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Fill In The Properly State The Reason



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

° Watch Video Solution



https://dl.doubtnut.com/l/_jBPvyBsNCfgt

A(ALMN)
ADMN)

2.Find

b
M P Q N

° Watch Video Solution

3. In the adjoining figure, M is the midpoint of seg AB

A(AAMC)
A(ABMC)

and seg CM is a median of AABC. Find


https://dl.doubtnut.com/l/_wSirMrlaBchP
https://dl.doubtnut.com/l/_rOnXltG5LCA9

A M B

° Watch Video Solution

Textual Activity

1.Drawa AABC.
1. Bisect ZB and name the point of intersection of AC
and the angle bisecto as D.

2. Mesure the sides.


https://dl.doubtnut.com/l/_rOnXltG5LCA9
https://dl.doubtnut.com/l/_f9zWedzWcfxb

AB= ] cm,BC= 0] cm,
AD=[] cm,DC= [ cm
3. Find rati AB d AD
.Find rations — and —.
2O e M Do
4. You will find that both the rations are almost equal.
5. Bisect remaining angles of the triangle and find the

ration as

above. Verify that the ratios are equal.

° Watch Video Solution

2. Draw three parallel lines.

i. Label them as |, m, n.

ii. Draw transversals t; and t».

iii. AB and BC are intercepts on transversal ;.

iv. PQ and QR are intercepts on transversal ts.


https://dl.doubtnut.com/l/_f9zWedzWcfxb
https://dl.doubtnut.com/l/_xLhro4cKojwW

P
v. Find rations £ and —Q You will find that they

BC QR’

are almost equal. Verify that they are equal.

° Watch Video Solution

3.1n the adjoining figure, AB||CD||EF. If AC=54,CE=

9,BD =75, then find DF.

e
J o .

:E/ \F»
/[

o Watch Video Solution



https://dl.doubtnut.com/l/_xLhro4cKojwW
https://dl.doubtnut.com/l/_FsaLCa0xSE7t

4. In AABC, ray BD bisects LABC. A—- D —C,

side DE||sideBC, A — E — B,

th thtAB— AE
en prove tha BC ~ EB

B C

° Watch Video Solution

Practice Set 11


https://dl.doubtnut.com/l/_KlcfDf8XITUN

1. Base of a triangle is 9 cm and height is 5 cm. Base of
another triangle is 10 cm and height is 6 cm. Find the

ratio of areas of these triangles.

o Watch Video Solution

2. In the adjoining figure,

BC | AB, AD | AB, BC = 4,


https://dl.doubtnut.com/l/_MQnDIdEQckKR
https://dl.doubtnut.com/l/_9E01cL8MVCtO

A(AABC)
AD = 8, then find .
A(AADB)

o Watch Video Solution



https://dl.doubtnut.com/l/_9E01cL8MVCtO

3. In the following figure seg PS 1 seg RQ), seg
QT L seg PR. If RQQ=6,PS=6 and PR = 12,

then find the QT.

° Watch Video Solution

4. In the adjoining figure, AP | BC, AD||BC, then

find A(AABC): A(ABCD).


https://dl.doubtnut.com/l/_CCajHNFuad6b
https://dl.doubtnut.com/l/_ztsWvIXLKXSb

<+ C >

B P

o Watch Video Solution

5. In the adjoining figure, PQ 1. BC, AD | BC, then

find ratio

A(APQ@B)

A(APBC)’
A
-



https://dl.doubtnut.com/l/_ztsWvIXLKXSb
https://dl.doubtnut.com/l/_yPwYXlkYa5Ft

° Watch Video Solution

6. In the adjoining figure, PQQ 1| BC, AD 1 BC, then

find ratio
A(APBC)
A(AABCQC) '
A
| -
B Q D C

° Watch Video Solution



https://dl.doubtnut.com/l/_yPwYXlkYa5Ft
https://dl.doubtnut.com/l/_mnpxA2ZDjFHB

7. In the adjoining figure, PQ 1. BC, AD | BC, then

find ratio
A(AABC)
A(AADC)
A
-
B Q D C

o Watch Video Solution

8. In the adjoining figure, PQ 1. BC, AD 1 BC, then

find ratio



https://dl.doubtnut.com/l/_TkLA07vIPIGs
https://dl.doubtnut.com/l/_jh2wzGBtEpFy

A(AADC)
A(APQC)

° Watch Video Solution

Practice Set 12

1. Given below are some triangle and lengths of line

segments. Identify in which figures, ray PM is the

bisector of ZQPR.


https://dl.doubtnut.com/l/_jh2wzGBtEpFy
https://dl.doubtnut.com/l/_pU816n01KalC

10


https://dl.doubtnut.com/l/_pU816n01KalC

3.6

R 10 P

o Watch Video Solution

2.In APQR, PM = 15, PQ = 25, PR = 20, NR = 8.

State whether line NM is parallel to side RQ or not.


https://dl.doubtnut.com/l/_pU816n01KalC
https://dl.doubtnut.com/l/_VUQw4DMmZiRH

Given Reason.

° Watch Video Solution

3. In AMNP,N(@ is a bisector of ZN. If

MN =5, PN =7, MQ = 2.5, the find QP.


https://dl.doubtnut.com/l/_VUQw4DMmZiRH
https://dl.doubtnut.com/l/_6UpJjHPmXOFY

o Watch Video Solution

4. Measures of same angles in the figure are given.

AP AQ
PB  QC’

Prove that


https://dl.doubtnut.com/l/_6UpJjHPmXOFY
https://dl.doubtnut.com/l/_S9MdJwxF9XnV

o Watch Video Solution

5.1n trapezium ABCD side AB | | side PQ | | side DC,

AP = 15, PD = 12, QC = 14, find BO.

A B



https://dl.doubtnut.com/l/_S9MdJwxF9XnV
https://dl.doubtnut.com/l/_BgHpgMPpleOc

I ° Watch Video Solution

6. Find QP using given information in the figure.

M

14

Q
25

40

O Watch Video Solution

7.In the adjoining figure, if AB||CD||FE, then find x

and AE.


https://dl.doubtnut.com/l/_BgHpgMPpleOc
https://dl.doubtnut.com/l/_Hvv8iRlf28Ps
https://dl.doubtnut.com/l/_HMiSi1HJjJLB

C x E

A

12

° Watch Video Solution

8 In ALMN, ray MT bisects ZLMN. If

LM = 6, MN = 10.


https://dl.doubtnut.com/l/_HMiSi1HJjJLB
https://dl.doubtnut.com/l/_V2GhK9uaS2uH

TN = 8 then find LT.
L

° Watch Video Solution

9. In AABC Seg BD bisects /ZABC. If

AB=2,BC=x+5,AD =2 — 2,DC = z + 2,


https://dl.doubtnut.com/l/_V2GhK9uaS2uH
https://dl.doubtnut.com/l/_R1zoKOr8URvl

then find the value of z.

B x+5 C

o Watch Video Solution

10. In the figure X is any point in the interior of triangle.
Point X is joined
to vertices of triangle. Seg PQ | | Seg DE, Seg QR | |

Seg EF.


https://dl.doubtnut.com/l/_R1zoKOr8URvl
https://dl.doubtnut.com/l/_2QeGyx2cIhPI

Prove that Seg PR | | Seg DF.

D

° Watch Video Solution

1. In AABCray BD bisects ZABC and ray CE bisects
LACB.

If seg AB = seg AC, then prove that ED || BC.

° Watch Video Solution



https://dl.doubtnut.com/l/_2QeGyx2cIhPI
https://dl.doubtnut.com/l/_p0LJ5XvO5ltF

Practice Set 13

1.In the adjoining figure, /ABC = 75°, /ZEDC = 75°.
State

which two triangle are similar and by which test? Also
write the similarity of these two triangles by a proper

one to one correspondence.



https://dl.doubtnut.com/l/_qEQDXwk1SmDp

l &J Watch Video Solution J

2. Are the triangle in the adjoining figure similar? If yes,

by which test?

P
L
10
6 3 5
Q R M 4 N

o Watch Video Solution

3. As shown in the figures, two poles of height 8m and
4m are perpendicular to the ground. If the length of
shadow smaller pole

due to sunlight is 6 m then long will be the shadow of


https://dl.doubtnut.com/l/_qEQDXwk1SmDp
https://dl.doubtnut.com/l/_a80QwK36kjOO
https://dl.doubtnut.com/l/_gS7KW4fGqau2

the bigger

pole of the same time?

° Watch Video Solution

4. In
AABC,AP 1. BC,BQ 1. AC.B—-P-C,A-Q —C,

then prove that ACPA-~ACQB.


https://dl.doubtnut.com/l/_gS7KW4fGqau2
https://dl.doubtnut.com/l/_LAgS588Y3cOs

If AP = 7, BQ = 8, BC = 12 then find AC.

A

° Watch Video Solution

5.Given : In trapezium PQRS, side PQ||SR, AR = 5 AP, AS =

5 AQ, then prove that SR=5 PQ.


https://dl.doubtnut.com/l/_LAgS588Y3cOs
https://dl.doubtnut.com/l/_f8d4MuLHfnhK

o Watch Video Solution

6. In trapezium ABCD side AB | | side DC, diagonals AC
and BD

intersect In point O. If AB =20, DC = 6,0B = 15


https://dl.doubtnut.com/l/_f8d4MuLHfnhK
https://dl.doubtnut.com/l/_J2KGtU1pA9AY

then find OD.

° Watch Video Solution

7. U ABCD is a parallelogram. Point E is on side BC.
Line DE intersects Ray AB in point T. Prove that

DE x BE = CFE x TFE.

| e |


https://dl.doubtnut.com/l/_J2KGtU1pA9AY
https://dl.doubtnut.com/l/_jxviknVa5DOZ

l & Watch Video Solution J

8. In the figure, seg AC and seg BD intersect each

other in point P

AP BP
and oP = DP.Prove that A ABP~-ACDP.

° Watch Video Solution

9. In the adjoining figure, in AABC, point D is on side

BC such that, ZBAC = ZADC. Prove that,


https://dl.doubtnut.com/l/_jxviknVa5DOZ
https://dl.doubtnut.com/l/_REBUt3oG9LZO
https://dl.doubtnut.com/l/_0E7gxKWONJM9

CA? = CB x CD.

° Watch Video Solution

Practice Set 14

1. Ratio of corresponding sides of two similar triangles

is 3:5, then find ratio of their areas.

° Watch Video Solution



https://dl.doubtnut.com/l/_0E7gxKWONJM9
https://dl.doubtnut.com/l/_AAS5rWlmv9Jf
https://dl.doubtnut.com/l/_EqpyJJqoy02U

2. If
AABC-APQR, A(AABC) = 80, A(APQR) = 125,
then

fill in the blanks:
A(AABC) 80 _ AB []

AA.....) 13 PpQ O

° Watch Video Solution

3. ALMN-APQR,
9 x A(APQR) = 16 x A(ALMN). If QR = 20, then

find MN.

O Watch Video Solution



https://dl.doubtnut.com/l/_EqpyJJqoy02U
https://dl.doubtnut.com/l/_jpP7KfsxjEuh
https://dl.doubtnut.com/l/_rBZ87xuxds0b

4. Areas two similar triangles are 225 sq.cm, 81 sq.cm. If a
side of the smaller triangle is 12 cm, then find

corresponding side of bigger triangle.

° Watch Video Solution

5. AN ABC and A DEF are equilateral triangles.
A( A ABC):A( A DEF) =1:2 and AB =4, find

DE.

o Watch Video Solution

6. In the adjoining figure, seg PQ||seg DE,

A(APQF) = 20 sq. uints,


https://dl.doubtnut.com/l/_rBZ87xuxds0b
https://dl.doubtnut.com/l/_7Mg0XUpmJG4j
https://dl.doubtnut.com/l/_h6OnYRTfpVVE

PF = 2DP, then find A (0 DPQE)

D

° Watch Video Solution

Problem Set 1

1. In AABC and APQR, in a one to one

correspondence.


https://dl.doubtnut.com/l/_h6OnYRTfpVVE
https://dl.doubtnut.com/l/_iZusz1cNLuJ5

= = ,then
P

A.(a) APQR-AABC

B.(b) APQR-ACAB

C.(c) ACBA-APQR

D.(d) ABCA~-APQR

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_iZusz1cNLuJ5

2. If in ADEF and APQR, /D =~ /Q, /R =~ /FE,
then which

of the following statements is false?

Q

D

E//f R<= P

EF DF
A. (a) =

PR PQ
8. (b) DE _ EF

PQ RP

DFE DF
C. () =

QR  PQ
D. (d) EF _ DE

RP QR

Answer: B



https://dl.doubtnut.com/l/_66FjdmwD7hyx

| ¢ AA K- LAFIE R AL A Ar* LVIL"LLY10] J

3. In AABC and ADEF, /B=/E /F =/C
and

AB = 3DE, then which of the statements regarding
the two

triangles is true?

A

B C E//\AF

A.(a) The triangles are not congruent and not

similar.

B. (b) The triangles are similar but not congruent.


https://dl.doubtnut.com/l/_66FjdmwD7hyx
https://dl.doubtnut.com/l/_rkZCtU3LKxPz

C. (c) The triangles are congruent and similar.

D. (d) None of the statements above is true.

Answer: B

o Watch Video Solution

4, AABC and ADEF are equilateral triangles,
A(AABC): A(ADEF) = 1:2.
If AB = 4 then what is the length of DE?

D

\



https://dl.doubtnut.com/l/_rkZCtU3LKxPz
https://dl.doubtnut.com/l/_JClXN6ELmlTL

A. (a) 2\/5
B.(b) 4
C.(c)8

D. (d) 41/2

Answer: D

° Watch Video Solution

5.1n the adjoining figure, seg XY ||seg BC, then which of

the following statements is true?


https://dl.doubtnut.com/l/_JClXN6ELmlTL
https://dl.doubtnut.com/l/_ldw1Bx4mPaS6

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ldw1Bx4mPaS6
https://dl.doubtnut.com/l/_dyx1pGkcZstB

6. n AABC, B— D —C and BD =7, BC = 20,
then

find the ratio.

A(AABD)

A(AADC)
A

o Watch Video Solution

7. In AABC, B— D —(C and BD =7, BC = 20,

then


https://dl.doubtnut.com/l/_dyx1pGkcZstB
https://dl.doubtnut.com/l/_MOsvX9jBqanm

find the ratio

A(AABD)

A(AABC)
A

B D C

o Watch Video Solution

8 In AABC, B— D —C and BD =7, BC = 20,
then

find following rations.


https://dl.doubtnut.com/l/_MOsvX9jBqanm
https://dl.doubtnut.com/l/_YsGX2FxQocFx

A(AADC)
A(AABC)
A

° Watch Video Solution

9. Ratio of areas of two triangles with equal height is
2:3. If base of smaller triangle is 6 cm then find the

corresponding base of the bigger triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_YsGX2FxQocFx
https://dl.doubtnut.com/l/_24x99BX1wjJ8
https://dl.doubtnut.com/l/_eI3pkmPXiq1N

10. In the adjoining figure,

/ABC = /DCB = 90°, AB = 6, DC = 8, then

A(AABC)
A(ADCB)
D
A
8
6
B C

o Watch Video Solution

1. In the adjoining figure, PM = 10 cm, A(APQS) =

100sq. cm,


https://dl.doubtnut.com/l/_eI3pkmPXiq1N
https://dl.doubtnut.com/l/_fZG25uVCrtxc

A(AQRS) = 110sq. cm, then find NR.
P

o Watch Video Solution

12. AMNT-~AQRS. Length of altitude drawn from
point T is 5 and length of altitude drawn from point S is

9. Find the ratio
A(AMNT)
A(AQRS)



https://dl.doubtnut.com/l/_fZG25uVCrtxc
https://dl.doubtnut.com/l/_Obj9znSYWK03

° Watch Video Solution

13. In the figure A— D —-C and B—E—C seg
DE | | side AB. If AD =5, DC = 3, BC = 6.4 then

find BE.

A

B x E 64-x C

° Watch Video Solution



https://dl.doubtnut.com/l/_Obj9znSYWK03
https://dl.doubtnut.com/l/_63Y5Kt5TF74q

14. In the adjoining figure, seg PA , seg OB, seg RC and

seg SD are perpendicular to line AD. AB = 60, BC = 70, CD

=80, PS = 280, then

find PQ, QR and RS.

\ ‘
Op

S

o Watch Video Solution



https://dl.doubtnut.com/l/_PpTUJxniYLND
https://dl.doubtnut.com/l/_gPhYfS1qNqkc

15.
In APQR seg PM is a median. Angle bisectors of
/ZPMAQ) and ZPMR interesect side P(Q) and stdePR in

points X and Y respectively. Prove that XY | | QR.

° Watch Video Solution

16. In the figure bisectors of /B and ZC of AABC
intersect each

other in point X. Line AX intersects side BC in pont Y.


https://dl.doubtnut.com/l/_gPhYfS1qNqkc
https://dl.doubtnut.com/l/_dyCOh0xyh1TU

AX
AB =5, AC = 4, BC = 6 then find XV

o Watch Video Solution

17.In O ABCD, seg AD | | seg BC. Diagonal AC and

digonal BD intersect each other in point P. Then show


https://dl.doubtnut.com/l/_dyCOh0xyh1TU
https://dl.doubtnut.com/l/_18sXfM36EmJi

AP pPC
PD BP’

that

° Watch Video Solution

18.1n the adoining figure, XY || seg AC. If 2 AX = 3 BX and

XY =9, find the value of AC.
A



https://dl.doubtnut.com/l/_18sXfM36EmJi
https://dl.doubtnut.com/l/_xOtOTgQRvKOh

° Watch Video Solution

19. In the adjoining figure, the vertices of square DEFG
are on the sides of AABC. If /A = 90°, then prove

that DE?2 = BD x EC.
A

B D E C

° Watch Video Solution

Activites For Practice


https://dl.doubtnut.com/l/_xOtOTgQRvKOh
https://dl.doubtnut.com/l/_DMDHRTdz6TLK

1. In the adjoining figure, if AB||CD||FE, then find x

and AE.

FB8D4F

—>

° Watch Video Solution

2. In AABC(Cray BD bisects ZABC and ray CE bisects
LACB.

If seg AB = seg AC, then prove that ED || BC.

° Watch Video Solution



https://dl.doubtnut.com/l/_2kEwifEgYUfa
https://dl.doubtnut.com/l/_GdTxyF8Lz5qS

3. A ABC and A DEF are equilateral triangles.
A( A ABC): A( A DEF) =1:2 and AB =4, find

DE.

o Watch Video Solution

4.In the adoining figure, A-D-Cand B - E -C . Seg DE ||
side AB.If AD = 5,DC =3, BC = 6.4, then find BE.

A

B x E 64-x

° Watch Video Solution



https://dl.doubtnut.com/l/_XEAh9gQbeJ4G
https://dl.doubtnut.com/l/_WTIMaP0jVOU5

Multiple Choice Questions

1.In the given figure, if AD =5 cm and CE =3, then

A(AABD)
A(ABED) ——— '
A
B C D
E
A )5
.(a 3
25
B. (b) —


https://dl.doubtnut.com/l/_WTIMaP0jVOU5
https://dl.doubtnut.com/l/_bnbXdANAZhV3

Answer: A

° Watch Video Solution

2.In APQR,Q-A-Rand QA=6cm,QR=11cm,

A(APRA)
then =

A(APQA)



https://dl.doubtnut.com/l/_bnbXdANAZhV3
https://dl.doubtnut.com/l/_SwIXpj62QGhw

w|lot W sl o] ot

Answer: A

° Watch Video Solution

3. For the figure given below, if line | || line m,

A(APQS)
A(ATRS) —

then


https://dl.doubtnut.com/l/_SwIXpj62QGhw
https://dl.doubtnut.com/l/_XswgMzyAcKes

4
v
-~

10 cm U 8 cm

,_.|N, N[Ot oot w| o
| O

o
a
N

Answer: B

0 Watch Video Solution



https://dl.doubtnut.com/l/_XswgMzyAcKes

A(ATRP)

4.In the figure,RP: PK=11: 8, then

R P K

A (a)11:8
B.(b) 8:11
C.(c)7:11

D.(d) 11:19

Answer: A

ATPK)

T

[ o WMilabkl . \ NN daa Al it


https://dl.doubtnut.com/l/_MQwxY5N7euMR

yvatlll VIUGTY JUIULIVIIE ) |

5. Ratio of areas of two triangles with equal bases is 3 :
4.1f height of
the bigger triangle is 20 cm, then the corresponding
height of the smaller triangle is

A. (a) 4dem

B. (b) 9cm

C.(c) 12cm

D. (d) 15cm

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_MQwxY5N7euMR
https://dl.doubtnut.com/l/_GNeHutoJe5H1

6.1f A(AABC) = A(ALMN), then MN =

A P
M = N
4 cm
8 cm
1 L
B D C
A. (a) 40cm
B. (b) 10cm
C.(c) 4dcm
D. (d) 20cm
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_14zLxixgsV5g

7.1n the given figure, if DE || AC, then AB =

B 48 E 32 C

A. (a) 2.4 units
B. (b) 5.4 units
C.(c) 6 units

D. (d) 9 units

Answer: C

[ o AL _ L vl . ~_ ..


https://dl.doubtnut.com/l/_14zLxixgsV5g
https://dl.doubtnut.com/l/_6beYbcm0aBgl

tL ™ Vvdlilll vVIUCO o0I1IUtivIl ) |

8.X and Y are points on sides AB and AC respectively of
AABC. For which of the following cases will XY be
parallel to BC?
A. (a) AX=13 cm, XB =3.9 cm,
AY=28cm,YC =56 cm,
B.(b) AX=13cm,XB =3.9cm,
AY =28 cm,YC =84 cm
C.(c) AX=13cm,XB =26 cm,

AY=28cm,YC=84 cm


https://dl.doubtnut.com/l/_6beYbcm0aBgl
https://dl.doubtnut.com/l/_q0oGlWiqvz8m

D.(d) AX=13 cm,XB =2.6 cm,

AY =28 cm,YC=11.2 cm

Answer: B

o Watch Video Solution

9. In the given figure, DE || BC. If AB = 12 cm and AD =

3cm,


https://dl.doubtnut.com/l/_q0oGlWiqvz8m
https://dl.doubtnut.com/l/_Hc6idyQBVw2z

then AE : EC =

A (a)l:2

B.(b) 1:3

C.(c)1:4

D.(d)4:1

Answer: B


https://dl.doubtnut.com/l/_Hc6idyQBVw2z

o Watch Video Solution

10.In APQR, if ST || QR, then what is the value of x?

P
X +3
S T
ro AW
Q— R
A (a)l
B. (b) 2
C.(c) 3

D.(d) 4


https://dl.doubtnut.com/l/_Hc6idyQBVw2z
https://dl.doubtnut.com/l/_hE5oNjJzQCFv

Answer: C

o Watch Video Solution

1. Ray BD is the angle bisector of ZABC. The

perimeter of AABC'is

A
8 cm D 27cm
(o]
B 9cm ¢
A.(a) 2.4 cm
B.(b) 3.1 cm

C.(c) 22.1 cm


https://dl.doubtnut.com/l/_hE5oNjJzQCFv
https://dl.doubtnut.com/l/_n6AMei4DbJlI

D. (d) 22.8 cm

Answer: C

° Watch Video Solution

12. 0 PQRS is a trapezium, and AB || PS || QR. If PA=3
cm,

AQ =14 cm,BR =21cm, then SB =

P S

T e

Q

A. (a) 2cm


https://dl.doubtnut.com/l/_n6AMei4DbJlI
https://dl.doubtnut.com/l/_QE9G7cAz3ws6

B. (b) 2.5 cm

C.(c) 4 cm

D.(d) 4.5 cm

Answer: D

o Watch Video Solution

AB BC AC
13.In AABC and AXY Z, Y7 - 72X - XV then

by which correspondence are AABC and AXYZ

similar?

A. (a) ABC < XYZ

B.(b) ABC > YXZ


https://dl.doubtnut.com/l/_QE9G7cAz3ws6
https://dl.doubtnut.com/l/_6KRnPg2A6BST

C.(c) ABC « YZX

D.(d) BAC <> YZX

Answer: C

° Watch Video Solution

. PQ QR
14. If in APQR and AXY Z, XV - X7 then the

triangles will be similar, when

A(d) LP > /X

B.(b) LR = /Y

C.(c) /Q =~ /Y

D.(d) /Q =~ /X


https://dl.doubtnut.com/l/_6KRnPg2A6BST
https://dl.doubtnut.com/l/_jFEVHHZAgmIx

Answer: D

° Watch Video Solution

15. If APQR-ADEF, /P = 65° and /F = 32°,

then ZQ) is

A.(a) 32°

B. (b) 65°

C. (c) 83°

D. (d) 97°

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_jFEVHHZAgmIx
https://dl.doubtnut.com/l/_RDLPz4ibx9CK

16. In the given figure, if seg PQ|| seg BC such that
AP 2

AB 5

then B_g is equal to

A



https://dl.doubtnut.com/l/_RDLPz4ibx9CK
https://dl.doubtnut.com/l/_nFJOJ9u2HXyh
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Answer: B

° Watch Video Solution

17. In the figure, if AXY Z is right angled at Y and UV

1 XZ, X2 = 13 cm , then the lengths of XV and UV


https://dl.doubtnut.com/l/_nFJOJ9u2HXyh
https://dl.doubtnut.com/l/_mwqKFnIDg9Cb

respectively are.

X
A 3 cm
U
l_2cm
Z 12 cm Y

A. (a) 15cm, 36cm

B. (b) 36cm, 15cm

15 36
C.(c) —cm, —cm
13 13

36 15
D. (d) cm, cm
13 13

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_mwqKFnIDg9Cb

18. A vertical pole of a length 6 m casts a shadow of 4 m
long on the ground. At the same time a tower casts a
shadow 28m long. Find the height of the tower.

A. 14 m

B.28 m

C.35m

D.42m

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_idwiwBW0gOUl

19.In the figure, AABC-ABPQ. If AB = BC andPis
the midpoint

of seg BC, then A(AABC): A(ABPQ)=

A

A (a)1:2

B.(b) 2:1


https://dl.doubtnut.com/l/_PYpQfcMfpbdQ

C.(c)1:4

D.(d)4:1

Answer: D

o Watch Video Solution

20. In the figure, AABC~-AAPQ. If AB 12 cm, and AQ

= = AG,


https://dl.doubtnut.com/l/_PYpQfcMfpbdQ
https://dl.doubtnut.com/l/_5Kl1F0lb5fbo

then the length of AP is

A.(a) 2cm

B.(b) 3cm

C.(c)4 cm

D. (d) 6 cm

Answer: B


https://dl.doubtnut.com/l/_5Kl1F0lb5fbo

° Watch Video Solution

2. APQR-AXYZ. PQ : XY = 7 : 3, then
A(APQR): A(AXY Z)=

A(a)7:3

B.(b)3:7

C.(c)49:9

D.(d) 9:49

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_5Kl1F0lb5fbo
https://dl.doubtnut.com/l/_3RsuN9eaKOEk
https://dl.doubtnut.com/l/_b7CQT85NJ442

22. If AABC-APQR  with

ar(APRQ) .
is equal to
ar(ABCA)

A.(a)9

Answer: A

BC
QR

1th
7 en

o Watch Video Solution

23. AABC~ADEFEF.If BC=5cm,EF =75 cm and

A(ADEF) = 45¢m?, then A(AABC) =


https://dl.doubtnut.com/l/_b7CQT85NJ442
https://dl.doubtnut.com/l/_xtf2wd2noRLG

A. (a) 10cm?
B. (b) 20cm?
C. (¢) 30cm?

D. (d) 40cm?

Answer: B

o Watch Video Solution

24. If the ratio of corresponding sides of similar
trianglesis 3: 4,

then the ratio of their areas is

A (a)3:4


https://dl.doubtnut.com/l/_xtf2wd2noRLG
https://dl.doubtnut.com/l/_3sqw8IRmiY0r

B.(b)4:9

C.(c)9:16
D.(d) 16: 9
Answer: C

° Watch Video Solution

25. The areas of two similar triangles are 32cm? and
50cm?.
The ratio of their corresponding sides is

A(a)3:7

B.(b)4:5


https://dl.doubtnut.com/l/_3sqw8IRmiY0r
https://dl.doubtnut.com/l/_KmLTcrxEfTVH

C.(c) 5:4

D.(d) 16: 25

Answer: B

° Watch Video Solution

26. APQR-AUTSIf A(APQR): A(AUTS) =16 : 9,
and
TS =18 cm, then QR =

A (a) 1.35 cm

B. (b) 2.4 cm

C.(c) 3.2 cm


https://dl.doubtnut.com/l/_KmLTcrxEfTVH
https://dl.doubtnut.com/l/_lXdaCnz28weV

D.(d) 1.1 cm

Answer: B

° Watch Video Solution

27. ADEF-AMNK. If DE = 2, MN = 5, then find
A(ADEF)
A(AMNK)

the value of



https://dl.doubtnut.com/l/_lXdaCnz28weV
https://dl.doubtnut.com/l/_55EAu9utrcM2

Answer: C

o Watch Video Solution

28. If AABC~-ADEF
A(AABC) = 4A(ADEF) and
AC =6 cm, then DF =

A. (a) 2cm

B.(b) 3 cm

C.(c) 6 cm

D.(d) 9 cm

Answer: B

such

that

f  _


https://dl.doubtnut.com/l/_55EAu9utrcM2
https://dl.doubtnut.com/l/_eEJpeTZYmqlM

l o Watch Video Solution J

Additonal Problems For Practice Basid On Practice Set 11

1.In given figure,seg AE | seg BC,seg DF L line BC,

A(AABC)
AE =4, DF =6, then find .
' A(ADBC)
D
A
]

B E C F

° Watch Video Solution



https://dl.doubtnut.com/l/_eEJpeTZYmqlM
https://dl.doubtnut.com/l/_kW4uZtVtRXMw

2.In the given figure, seg BE | seg AB and seg BA |

seg AD.
A(AABE)
If BE =6 and AD =9, then find .
A(ABAD)
E 6 B
L
5
A 9 D

o Watch Video Solution



https://dl.doubtnut.com/l/_kW4uZtVtRXMw
https://dl.doubtnut.com/l/_hFFPFPkKdkNf

3.In AABC'point D is on side BC such that DC = 6, BC =
15. find
(i) A(AABD): A(AABC) and

(i) A(AABD): A(AADC).
A

o Watch Video Solution

4.1n the given figure,QR =12 and SR = 4.

Find the values of
n A(APSR)
|

A(APQR)



https://dl.doubtnut.com/l/_FGduiPEvPbrc
https://dl.doubtnut.com/l/_vFozkhHCrNpb

(ii) A(APRS)
A(APQR)

... A(APQS)
(i) A(APSR)
P

— 1)

o Watch Video Solution

5. In the given figure, if RP : PK = 3: 2, then find the
following ratios.

() A(ATRP): A(ATPK)


https://dl.doubtnut.com/l/_vFozkhHCrNpb
https://dl.doubtnut.com/l/_QrdKJQjxdbs8

(i) A(ATRK): A(ATPK)

(i) A(ATRP): A(ATRK)

R P K

o Watch Video Solution

6. In the given figure, in AABC, point D is on side AC. If
AC =16,

DC=9and BP L. AC then, find the following rations.
 A(AABD)

" A(AABC)
_A(ABDC)
"A(AABC)

I


https://dl.doubtnut.com/l/_QrdKJQjxdbs8
https://dl.doubtnut.com/l/_4ogAdB6nHtM8

o Watch Video Solution

7. In the given figure, seg AE | seg BC and seg DF |

seg BC. Find

A(AABC)
"A(ADBOC)
_ A(ADBF)

" A(ADFC)



https://dl.doubtnut.com/l/_4ogAdB6nHtM8
https://dl.doubtnut.com/l/_8hnYfE4tXJ7q

A(AAEC)
A(ADBF)

o Watch Video Solution

8. In the following figure, seg DH L seg EF and seg GK
1 EF.If DH=6 cm, GK =10 cm and A(ADEF) =150cm?

, then find:


https://dl.doubtnut.com/l/_8hnYfE4tXJ7q
https://dl.doubtnut.com/l/_7nZkUv0s9uaD

(iii) A(O DFGE)
D

o Watch Video Solution

9. (1 ABCD is a parallelogram. P is any point on side

BC. Find two


https://dl.doubtnut.com/l/_7nZkUv0s9uaD
https://dl.doubtnut.com/l/_hiTm7JbrB1uS

pairs of triangles with equal areas.

A

O Watch Video Solution

10. The ratio of the areas of two triangles with common
base is 4:3.

Height of the larger triangle is 6 cm, then find the
corresponding

height of the smaller triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_hiTm7JbrB1uS
https://dl.doubtnut.com/l/_CLVFj07sh57p
https://dl.doubtnut.com/l/_qjKMOY8zKl0S

11. The ratio of the areas of two triangles with the
common base is 6:5. Height of the larger triangle is 9
cm. Find the corresponding height of the smaller

triangle.

° Watch Video Solution

Additonal Problems For Practice Based On Practice Set 12

1.In AABC, DE||BC. IfDB =54 cm,AD=18cm,EC

=7.2cm,


https://dl.doubtnut.com/l/_qjKMOY8zKl0S
https://dl.doubtnut.com/l/_AApTFKaeI1v2

then find AE.

A

B C

° Watch Video Solution

2.In the given figure, line | || side BC, AP = 4, PB = 8, AY =

5 and YC= x. Find x.


https://dl.doubtnut.com/l/_AApTFKaeI1v2
https://dl.doubtnut.com/l/_Tnq9fdlu2yab

A 5 \Y . C

° Watch Video Solution

3. In the adjoining figure, seg EF|| side AC, AB = 18, AE =

10, BF = 4.


https://dl.doubtnut.com/l/_Tnq9fdlu2yab
https://dl.doubtnut.com/l/_UInUPiCiBYQd

Find BC.

B F C

o Watch Video Solution

4. In the adjoining figure,seg DE||side AC and seg DC ||

side AP.



https://dl.doubtnut.com/l/_UInUPiCiBYQd
https://dl.doubtnut.com/l/_q0iufiK2y0tR

P thtBE—BC
rove tha EC — CP

D

B E C P

o Watch Video Solution

5.In the adjoining figure, PM = 4.8, MR = 2.4, QN = 5.4, NR
= 3.6.

State with reason whether seg MN is Parallel to side PQ


https://dl.doubtnut.com/l/_q0iufiK2y0tR
https://dl.doubtnut.com/l/_893cKhjnK1Jr

Q 54 N 361

o Watch Video Solution

6.In APQR, seg RS bisects ZR.if PR =15, RQ = 20, PS =

12, then find SQ.


https://dl.doubtnut.com/l/_893cKhjnK1Jr
https://dl.doubtnut.com/l/_dGm7eiIyBBbj

o Watch Video Solution

7. In the following figure, in APQR, seg RS is the

bisector of ZPR(), PS=6,50Q=8, PR =15, Find QR.


https://dl.doubtnut.com/l/_dGm7eiIyBBbj
https://dl.doubtnut.com/l/_G3XKnent3N1G

15

O ® »no T

o Watch Video Solution

8. In the following figure, in APQR, seg RS is the

bisector of ZPRQ.


https://dl.doubtnut.com/l/_G3XKnent3N1G
https://dl.doubtnut.com/l/_kVdfXAOVNZvb

If PS=9,SQ =6, PR =18, find QR.

P

o Watch Video Solution

9. In the following figure, ray PT is the bisector of

ZQPR. Find the


https://dl.doubtnut.com/l/_kVdfXAOVNZvb
https://dl.doubtnut.com/l/_C7wTyVWRq3JA

value of x and perimeter of APQR.

o Watch Video Solution

10. In the given figure, ray LS is the bisector of ZM LN,

and


https://dl.doubtnut.com/l/_C7wTyVWRq3JA
https://dl.doubtnut.com/l/_34AWiyrNbtNZ

ML = LN.Find the relation between MS and SN.

L i+

o Watch Video Solution

11. In the adjoining figure, seg PS||seg QT||seg RU, PQ =

6.4,PR =9.6


https://dl.doubtnut.com/l/_34AWiyrNbtNZ
https://dl.doubtnut.com/l/_Q7BMbecDRQoo

and ST =11, then find the length of SU.

P S

- »

< (l’ T >

R
47 >

° Watch Video Solution

Additonal Problems For Practice Based On Practice Set 13



https://dl.doubtnut.com/l/_Q7BMbecDRQoo

. In AXYZ, /Y = 100°, /Z = 30°. In
ALMN, /M = 100°, /N = 30°. Are AXYZ and

A LM Nsimilar? If yes, by which test?

X

° Watch Video Solution

2. Are two triangles in the figure given below similar

according to the information given? If yes, by which


https://dl.doubtnut.com/l/_pTVwaQOgkwQl
https://dl.doubtnut.com/l/_Jq13WwfhYosB

test?

° Watch Video Solution

3. Can we say that two triangles in the given figure are
similar

according to the information given? If yes, by which

test?
M
X
21
m
v 20 Z N 30 P

I ° Wiakt~h \NtAAA CAlLiikiAan


https://dl.doubtnut.com/l/_Jq13WwfhYosB
https://dl.doubtnut.com/l/_iw6bUGAfTWlu

€ YVOULLIL VIMGY SDWIMGILEE J

4. In the fiigure given below, which triagles are similar?

Justify.

o Watch Video Solution



https://dl.doubtnut.com/l/_iw6bUGAfTWlu
https://dl.doubtnut.com/l/_tiItRJP7O92u

5. A street light bulb is fixed on a pole 6 m above the
level of the street.
If a women of height 1.5 m casts a shadow of 3 m, then

find how far she is away from the base of the pole.

° Watch Video Solution

6. Diagonals of a quadrilateral ABCD intersect in point Q.
if 2 QA = QC,

2 QB =QD, then prove that DC = 2 AB.

° Watch Video Solution



https://dl.doubtnut.com/l/_OcA1PaCp8nCH
https://dl.doubtnut.com/l/_S7FcJWqfeVBq

7.ln O ABCD ,side BC | | side AD. Digonals AC and
BD

1
intersect each other at P. If AP = EAC then prove

1
DP = EBP'

° Watch Video Solution

Additonal Problems For Practice Based On Practice Set 1 4

1. A DEF~ A MNK, if DE=5 and MN=6, then find the

valueof A( A DEF): A( A MNK).

o Watch Video Solution



https://dl.doubtnut.com/l/_DiuCPmNsp6f2
https://dl.doubtnut.com/l/_5IS8rEfXlSZf
https://dl.doubtnut.com/l/_TO7PPyMJ9qsW

2. AABC-APQR. If A(AABC) = 25,

A(APQR) = 16 find AB: PQ.

° Watch Video Solution

3. If APQR-APMN and 9A(APQR) = 16
A(APMN),

OR
then find .
enneTIN

° Watch Video Solution

4. ALMN~ARST and A(ALMN) =100sq.Cm,

A(ARST) =144sq cm, LM = 5cm. Find RS.

° Watch Video Solution



https://dl.doubtnut.com/l/_TO7PPyMJ9qsW
https://dl.doubtnut.com/l/_rbKXtETtuGot
https://dl.doubtnut.com/l/_91JHMhS5XBfc

5. Ratio of corresponding sides of two similar triangles
is 2: 5.

if the area of the smaller triangle is 64sq. Cm , then
what is the area

of the bigger triangle?

° Watch Video Solution

6. AABC and ADEF are equlateral triangles.

A(AABC): A(ADEF) =1: 2.If AB = 4, then what is


https://dl.doubtnut.com/l/_91JHMhS5XBfc
https://dl.doubtnut.com/l/_LsObJ39kT8Uz
https://dl.doubtnut.com/l/_0KUHMm8DEerS

length of DE?

° Watch Video Solution

7. If the areas of two similar triangles are equal, prove

that they are congruent.

° Watch Video Solution



https://dl.doubtnut.com/l/_0KUHMm8DEerS
https://dl.doubtnut.com/l/_gE6lbT0EdBhO

8. In [J ABCD, ABJ|CD. Diagonals AC and BD intersect
each other at point P. Prove that A( A ABP):

A( A CPD)=(AB)*: (CD)>.

° Watch Video Solution

Chapter Assessment

1. Choose the correct alternative.

In the given figure, if BC = 3cm and BD = 7 cm , then


https://dl.doubtnut.com/l/_EFNkVPaHarih
https://dl.doubtnut.com/l/_bpVq5vdmt5h8

A(AABCQC)
A(AABD)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_bpVq5vdmt5h8

2. Choose the correct alternative.
A ABPQ)

In the given figure, if seg PQ|| BC, then
g g g PQ|| A(ACOP)

A



https://dl.doubtnut.com/l/_UiPuPfOP3BnU

Answer: D

° Watch Video Solution

3. Choose the correct alternative.
AABC and APQR are equilateral triangles. If
A(AABC): A(APQR) =1:16, and AB = 2 cm, then
what is the length of PR?

A (a)4cm

B.(b) 2 cm

C.(c) 6 cm


https://dl.doubtnut.com/l/_UiPuPfOP3BnU
https://dl.doubtnut.com/l/_KhzjriYOFrM6

D.(d) 8 cm

Answer: D

° Watch Video Solution

4. Choose the correct alternative.
In the given figure, if seg PQ|| RS ||seg TU, and PR = 6, RT

=3, QS =5, then what is the length of SU?
P Q
L\
3,

L

A. (a) 2.5 units


https://dl.doubtnut.com/l/_KhzjriYOFrM6
https://dl.doubtnut.com/l/_6QgAkGzbNIGP

B. (b) 7.5 units

C.(c) 10 units

D. (d) 1.5 units

Answer: A

° Watch Video Solution

5.

In the given figure, ray PT is the bisector of ZQPR.


https://dl.doubtnut.com/l/_6QgAkGzbNIGP
https://dl.doubtnut.com/l/_bTStJbCBalMP

Find the value of x.

P

5.6 cm

Q

4 cm TX S5em R

° Watch Video Solution

6.

Are the triangle shown in the figure below similar? If so,


https://dl.doubtnut.com/l/_bTStJbCBalMP
https://dl.doubtnut.com/l/_NL3cWyn2Uone

by which test of similarity?

C

64°

640

D

o Watch Video Solution

7. Complete the following activities

The areas of two triangle with same base are in
proportion of their corresponding height. To prove the
theorem, answer the following

a. Draw two triangles, give names of all points,show


https://dl.doubtnut.com/l/_NL3cWyn2Uone
https://dl.doubtnut.com/l/_YvVAjzaDhzN7

their bases.

b. Write ' given' and 'to prove' from the figures drawn.

° Watch Video Solution

8. In the figure X is any point in the interior of triangle.
Point X is joined
to vertices of triangle. Seg PQ | | Seg DE, Seg QR | |

Seg EF.


https://dl.doubtnut.com/l/_YvVAjzaDhzN7
https://dl.doubtnut.com/l/_6SDMjdbW0eHI

Prove that Seg PR | | Seg DF.

D

o Watch Video Solution

9.In the adoining figure, A-D-Cand B - E -C . Seg DE ||

side AB. If AD = 5,DC = 3,BC = 6.4, then find BE.



https://dl.doubtnut.com/l/_6SDMjdbW0eHI
https://dl.doubtnut.com/l/_6XPWJtFPt2Ns

B x E 64-x

° Watch Video Solution

10. The ratio of the areas of two triangles with equal
height is 3 : 4.

Base of the smaller triangle is 15 cm. Find the
corresponding base

of the large triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_6XPWJtFPt2Ns
https://dl.doubtnut.com/l/_sMD3wOfAD7vc

1.
In APQR seg PM is a median. Angle bisectors of
ZPMQ@ and ZPMR interesect side PQ) and sidePR in

points X and Y respectively. Prove that XY | | QR.

o Watch Video Solution

12. Diagonals of a quadrilateral ABCD intersect in point

Q.if2 QA =QC,

2 QB =QD, then prove that DC = 2 AB.


https://dl.doubtnut.com/l/_qZBG6swzGlqK
https://dl.doubtnut.com/l/_hxyvF4aisUuf

° Watch Video Solution

13. Prove that , "If a line parallel to a side of a triangle
intersects the remaining sides in two distinct points
then the line divides the sides

in the same proportion".

o Watch Video Solution

14. Slove the following questions.
In the figure, AADB and ACDB are drawn on the
same

base BD.if AC and BD intersect at O,


https://dl.doubtnut.com/l/_hxyvF4aisUuf
https://dl.doubtnut.com/l/_e2bu1gxzx6bQ
https://dl.doubtnut.com/l/_vQV4es6Zkttd

A(AADB) AO
then prove that = .
A(ACDB) CcO

o Watch Video Solution

15.
In the given figure, [ PQRS is a square. If

AQRT and APRU are similar to each other, then


https://dl.doubtnut.com/l/_vQV4es6Zkttd
https://dl.doubtnut.com/l/_XzHxhp5C8t6r

prove that A(AQRT) =
U

S A(APRU).

P Q

° Watch Video Solution

16.

Prove that for a given correspondence, if three angles of
one triangles are congruent to the corresponding three
angles of the other triangle, then the two triangles are

similar.

[ o Wiakt~h \NtAAA CAlLiikiAan



https://dl.doubtnut.com/l/_XzHxhp5C8t6r
https://dl.doubtnut.com/l/_21hUVw4wsduT

| & YVOULLIL VIMGY SDWIMGILDE )

17. Prove:In a triangle the angle bisector divides the side
opposite to the angle in the ratio of the remaining

sides.

° Watch Video Solution



https://dl.doubtnut.com/l/_21hUVw4wsduT
https://dl.doubtnut.com/l/_NmIPTxDarwBA

